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�น�วยท������ทศน�ยม��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��รทศน�ยม

1 ����ข�ยน�ศษ��วนต���ปน������ป�น�ศษ��วนท��ม�ต�ว��วน�ป�น�10��100��ร���1,000

1) 3
5 = = =

2) 2
10 = =

3) 9
25 = =

4) 13
20 = =

5) 6
50 = =

6) 4
100 =

7) 16
25 = =

8) 24
125 =

9) 14
40 = =

� ��10) 15
60 = =

ฝ.�.�/ผ.�

�บบฝ�ก��ด�2.2



๙๔ ���������������������������������������������(������

�น�วยท������ทศน�ยม��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��รทศน�ยม ฝ.�.�/ผ.�

1) 16
5

2) 4
5

��

3) 12
25

4) 9
50

2 �����ดงว�ธ��ข�ยน�ศษ��วนต���ปน���นร�ปทศน�ยม
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�น�วยท������ทศน�ยม��ล�ก�รบวก�ก�รลบ�ก�รค�ณ�ก�ร��รทศน�ยม

5) 17
25

6) 7
40

7) 8
125

8) 36
20

9) 4
250

10) 34
125
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